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| ined - 9 r
System.out.println("i is negative");

}
else if(z < 10) (& <10 - T

System.out.println("i is less than than 10"); <
/\/"\/sf\/\/\/\/\/\\_
}
felse if (i == 10) {
System.out.println("i is equal to 10");

}
els
ystem.out.println("i is greater than 10");
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|.inti=1/3,
if ( ) { —= /2< O

System.out.println("i is n

ive") ;
}
else if (i < 10) /2<{O F’

System.out.println("i is 1 han than 10");

}

else if (i == 10) {/2 <= /0
P T P N

System.out.println("i is eq

}

to 10");




| int 1 = 12;
U0 {/2< 0

System.out.println("i 1s negative");

}
else if(i < 10) (/2 <(O !
System.out.println("i is s than than 10");
}
else if (i == 10) { /Z==/® Q
AN
System.out.println("i is eq to 10");

em.out.println N ;
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System.out.println (m H

)/ {System.out.println({I Is <= 8"77}
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if(z >= 8)

{System.out.println(‘éi is <= 3")}}
{System.out.println("i is >= 8");}
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